


M2l X~

-
L

I.



I.=X2l M 7|

A
1& O+
ol
T = -
S
a3

HFA
=
7t?

=)
ol
—

RT KU

==
of

ol1 Tl

M S
% =

qr

7

4
|

A

|
r

< Jod

Xt
()
12

| A

ZAIZH, 8EH
&

O|H 7[& 1

it

o

2
E

T =X, X

= A Q17F? Al A

X

| =SAIEE

@)
X[ 217}

-

AL
(L

= &

=

A5 XEHe=

- T vs HIHRE, o)

e

O

At

2.

100

O] 2H(

d= 2Lt L2

2

X
o

_I

I QA=7F2

—_
o

I:l-E

o
=2 o= O

2 A

—e

20| M2 RJAAL DS XFH2 = K72l 180|772 &
(=}

A

4,



1. 1 SAI2E0) et E2A14

. LH
10 | =
id WK
- K Km
0 W=
Ml od 3
) |._A|_t
{  UWo o
= 1y o0 Fu
g EIH
M| < —
i+ ZEo
ST
Kr ﬂ,.Aoo“_o
ﬁ__n RM O
1
o oK E
op X 3107
K KIN
o~ _I_H m_”_ ,mH,_
Do P IH
Gl iz 8 U 70 o
Lok = 1Y
—~rr = r.._A|O
._Xll._AmnE _
ﬂo__._._._ku_kl_._._
O”_O_u_u_lg_g_/ll_._Al
ﬂ_o_.ﬂMWA ol
L opy < T op
Qafazd
< < "< R0

00 ao ojm ofo ofo &
= ™o M <
1 O O

= el

A

off LEA

[
L}

A O]l O
M —

T

L

<O W
Mmﬂut il
ojoRlM 77 M
M= 2Ty
oo ool



1 2 A 2B DB T 2A|Zt N\
(o) ?_|.'

A
tEl2] 2, AadXet 8788, dojF7], =SAl
gotots A AH AN A ZiolM B

1T A8 2|79 Hel

-

)
B\

QUIALH| =
*H&, sz M
XA, 8 M=




ot=1t OECD= 72| B SEE 0

12.00

10.00

== 0OFECD 2| &=

8.00

6.00

4.00

2.00

.97
O-OO I I I I I I 1

19601 1970 CH 1980 CH 19901ALCH 200074 2005™9 2010713

XF=: World Bank. 2014. Xj7t&

www.kli.re.kr -7 -



Q150|358 80|=t 2R

O MAl=t, 28%H=2| Xt70|S, HHl&=l, 7|=
I A=A+ 715X d2, tolg T

dF = XX N (@)
2 S FF A=2F29
AL >
TS 88
A —
=5 HY
¥, Mg®, 2w e
g HEo 22 = 7Y 2

- M ZHEY A oA sH=o| 2| A M| I (repositioning) = I}A MELE7|
Mol O|Fl= Hx/HMTYS 3 NEQ| H M
- MU F A0 1Ql0| ™, K7 AFWAS, FEEY W MALE DES, O]
A SHelZED FHEY W MAT Witato] My &g
SN, BAIZ =5, MAZ0| oIE 3 sAAe| ZED} 0 0HE 23S
XM A (I RAIZE TS, AX AT, ARAL2XSY S7h F471Y Hal/H
S 6% 2%, 0|2 WA QNN A™I Q17 BE
O M7|&%WH 7|1t MEFY| B, D27|E ER, M7|&0| £30| Y33
2 JHe L AY
- = EAF0IM D&, DX, D7|& Q12fo| WRIHX|T, FUH &3, X4
\JlEeiEel St Za MHIA gots HEH, XY =SUAN 18




29| 3

350 20| 9

CHO: wot Shaf. % el e =R, %
2008 2010 2013 2008 2010 2013
==Y =N HF | =9 | HS T = | HEF | =gA  HET
OfA| O} 214,051 | 247,650 | 53.1|324,163| 57.9 | OFA|O} | 199784 45.8 | 220,636 | 42.8
U= 28,252 | 28,176 6.0 34662 6.2 Q= 60,956 | 64,296 15.1| 60,029 11.6
s 91,389 | 116,838 | 25.1 | 145,869 | 26.1 e 76,930 | 71,574| 16.8| 83,053 16.1
=3 19,772 | 25294| 54 27,756 5.0 23 2,223 1,946 0.5 1,929 0.4
CH St 11,462 | 14,830 3.2| 15699 2.8 CH ot 10,643 | 13,647 30 14633 28
H| E £ 7805 9652 24| 21,088 3.8 =S 17,846 | 20,410 48| 20,785 4.0
ASEAN 49,283 | 53,200 10.9| 81,994 147 H| E 2,037 3,331 1.0 7175 1.4
HItE 16,293 | 15244 33| 22,289 40| |ASEAN | 40,917 | 44,099 10.1| 53,339 10.3
Ol & | A|OF 8897 19 11568 21 |AHIIE 8,362 7,850 1.8 10369 2.1
ol 8977 | 11435 25| 11,376 2.0 |Q=zyAlo} 13,986 3.3 13,190 2.6
0= 46,377 | 49,816 | 10.4| 62,052 11.1 o] = 38,365 | 40,403 95 41,512 8.1
+H 76,697 | 67,215| 14.4| 69,205 124 @S 53697 75412 | 14.6
= 10,523 | 10,702 23 7908 14 @9 14,769 | 14,305 3.4 19,336| 3.8
Ry 26,647 | 28,369 6.1 32288 58 @== 101,645 | 80,815| 19.0| 126,186 24.5
L America | 33,267 | 36,187 | 7.8 36,328| 6.5 |LAmerica | 13,756 14645 3.4 18,364| 3.6
Total(FOB) | 422,007 | 466,384 | 100.0 559,632 | 100.0 | | TotaICIF) | 435275 | 425.212 | 100.0| 515586 | 100.0
AR ot E US| 2014, SH AT S| O O| B H| O] A Y
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3. 2|'ZO|ACHO| A 20| ACH=

=4 25~54M 118 AL0l =Xl Hiul

ojM 25 to 54 LM 25 to 54 Ltq X}o|
1995 2013 s 1995 2013 2013
Belgium 60.6 74.0 13.6 86.5 84.0 10.0
Canada 69.4 77.9 8.5 83.0 85.1 7.2
Denmark 75.9 79.0 3.1 87.3 85.0 6.0
France 67.5 76.2 8.7 86.8 85.2 9.0
Germany 66.4 78.5 12.1 86.8 87.9 9.4
Japan 63.2 70.8 7.6 95.3 01.7 20.9
Korea 54.9 61.8 6.9 92.7 87.8 26.0
Netherlands 61.3 78.3 17.0 88.2 86.4 8.1
Spain 40.3 61.2 20.9 /8.6 70.4 9.2
Sweden 81.1 82.7 1.6 84.0 87.9 5.7
United Kingdom 69.5 75.3 5.8 84.8 86.5 11.2
United States 72.2 69.3 -2.9 87.6 82.8 13.5
OECD H+#
=N I=Ne: 62.0 66.5 4.5 87.7 84.8 18.3
Xt Z: OECD Employment Outlook 2014. X{7}&
oA L Lojof st=e] o dNE8ES2 7IE Ron, H{zte| AKXk 713
HAM 2XIHQI 71N 8RH(H/EQIEHO| RRQ ZTt THE)VSE B F1 AS
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=2 SAH dMEs AT EA 2004-2014

- e3dargol Ha FEOo| &olf MH[A 7HA0| O H2 JHRAMB[AY S4Q
MH|AE 22 SMAS Y, A2 20| K2 MYe 2At2[2] H|S0| =0t4.

- MEH 2A SojLtn s Abs|MHIAYS| Utz YTl Uxtz|el HO|
=2 A0 HF =

- TR 22 AEAMB[EE (a8, QA BE, BAL 25, T2E, OAE
AEAMH[2)| HSO| R, AEHO| KoLt |UEX] 1 /=,



2. =IME 0|3 =2| A3t

(1) *1|71|2H 1A 2FEH st o| A MEF =L} L SAIE 0|51 E
- NAl=l FFAE2F9|, AH 2t S22 NA 2= LEtoM Bol= =SAE
9| °*:‘2f7f °F=_1‘01|*'IE HZ5H A E(Et=e d=a4its Fle & E=x).
-4 EE EI:EAI"WI 0| St L=2te| BEo|M dTet XH0|S HOo|n QU=
E1I, 0=, =, et=, €=, 202, o|FE|0f S0 O st +=.
-FAH AtiRlord/orr A 2 SEH XEY/L7ESe| EMIIEL &
- EH7|ES0] Hita =2 SHHS UYL 2 F{AH AtLi2|ohE /0t 4 H 24|

| -
E 018 +o/ol MY = old, 35 S4/AMYIY/Age] WENS 2o

N

[ E7|Ya 2ReB0| HAK (LIS} vs BT, SA7|YH0| 2ERKEQE )
X} 7t ZKtef EWEO| HL| _ & EA|EO| 0|53} ot3} X

= o712 HAY 100, 01 VT 66, $271% YA
54, Z27|Q HHTE 37, 7|AFEE DREENE Ztoonsn nsues azues
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OECD V&1t S=9] ASHKIQ HAZ9| HIE

Ar2110%2} 519l 10%2t2]

~EH|

A2 = A XL
(%)

x-lol:n.o' H|-§-

anm—

(%)

1999 2012 1999 2012 1999 2012
Australia 3.00 3.38 14 14 14.3 18.9
Canada 3.63 3.72 24 19 23.1 21.7
France 3.10 2.97 9 14 . .
Germany 3.22 3.26 23 14 20.0 18.3
Italy 2.50 2.22 8 11 10.4 10.1
Japan 2.97 2.99 35 27 14.6 14.3
Korea 3.83 4.71 41 37 23.4 25.1
Netherlands 2.89 2.90 22 20 14.8 14.6
Spain . 3.08 . 9 14.6
Sweden 2.24 2.27 17 15 .
Switzerland 2.53 2.70 22 19 9.2
United Kingd
om 3.44 3.55 25 18 20.1 20.5
United States 4.50 5.22 23 19 24.5 25.3
OECD 3.01 3.38 20 15 16.8 16.3

Xt&: OECD Employment Outlook 2013, 2014
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2. EMT 0|F7E0| Mgl
% 12JH& 0Iot°] HIE

oA 15 ~ 64 oAl 25~54 LtAM 15~ 64 i 25~54

2000 2013 2000 2013 2000 2013 | 2000 2013
H 710 15.8] 11.5 11.6 9.5 13.9] 11.5 10.5 9.7
FHLFCF 23.4 19.3 17.4 15.1 20.6| 19.3 22.8 22.5
Hor= 26.5| 22.4 21.5 19.1 21.00 19.9 18.5 22.1
o A 16.7| 13.0 13.2 10.7 17.2| 12.6 13.3 9.8
=g 16.9] 15.0 14.4 13.3 14.5| 139 12.4 12.2
A= 16.2(2007) 14.5(2007) 9.7(2007) 7.1(2007)

48.4 36.2 44.4 30.9 343 285 | 300 25.3
ot= (2003) (2003) (2003) (2007)
HE2tE 24.1 15.2 19.4 10.5 18.2| 14.9 14.8 11.1
2 Il 2 17.1] 20.4 22.3 14.7 221 15.3 18.3 14.6
A9 El 16.1] 20.4 13.5 16.4 17.2| 19.6 15.5 16.4
= 21.1 15.6 17.4 12.5 19.9| 15.4 15.7 12.3
OECD T &
IS K[ 23.7, 19.4 19.2 16.3 20.8| 18.8 16.4 15.6

Xb=: OECD StatExtracts. http://stats.oecd.org/Index.aspx?DataSetCode=TENURE_AVE

o0 MY 18 T 2= 1'd 0|5t 1 & HIENM 7P 2 A2 o=2| %2 18 ¢4H

‘g4, 8o ¥2 = EojUin S, L-”-=I?_*-‘ZI X0l = &Ee _37 -




g 104 Ol X=2

H| =
2000 2010 2013 109 O| M2 EXE2 Watk7|7t
27} (38 H15), 2013
H1 710 11.48 12.27 12.18 21.67 (44.32%)
el 8.21 8.44 8.85 20.98 (28.71%)
et 10.05 11.12 10.77 21.87 (37.10%)
oA 11.05 11.79 12.27 21.41 (47.58%)
=9 1033 1140  11.69 21.64 (43.24%)
0| Efz| o} 11.97 1280  13.41 21.61 (50.00%)
! NA 497 552  18.05(19.69%)
ER= NA  11.04  10.87 21.12 (39.09%)
L 292|0] 9.18 9.85 9.90 21.20 (34.00%)
A0l 979 1067  11.66 21.06 (42.11%)
A9 O 11.36 10.70 10.31 21.81 (36.13%)
AS|A 9.50 9.64 9.76 20.60 (32.26%)
e, 8.24 9.27 9.49 19.68 (33.49%)

XF=: OECD Statistics. http://stats.oecd.org/Index.aspx?DataSetCode=TENURE AVE
2015. 3. 31 @&

TACHAF OECD=27}0|A 20138 S 104 O|A 22 A2 XIS Q|
34.28% 2 2 $H=9| 19.69% Lt 2 14.6%p 7t2 52 &9

HIS2



http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[BEL]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[DNK]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[FIN]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[SEX].[MW],[AGE].[900000],[EMPSTAT].[TE],[FREQUENCY].[A],[FAKEUNITDIM].[FAKEUNITMEMBERCODE],[TENURE].[TOTD],[COUNTRY].[FIN],[TIME].[2000]&ShowOnWeb=true
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[FRA]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[DEU]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[ITA]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[KOR]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[NLD]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[NOR]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[ESP]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[SWE]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[CHE]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/OECDStat_Metadata/ShowMetadata.ashx?Dataset=TENURE_AVE&Coords=[COUNTRY].[GBR]&ShowOnWeb=true&Lang=en
http://stats.oecd.org/Index.aspx?DataSetCode=TENURE_AVE
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2002

100.0

67.1
71.3

Sl
2005 2007
100.0 100.0
62.7 63.5
67.2 71.7
68.2 70.6
91.7 97.0
50.1 470
58.5 554
/1.3 66.8
514  51.0
/7.1 70.8
30.7  28.3
46.6 444
283 279

2009

100.0

54.6
59.1
59.6
87.7
47.2
54.1
64.3
50.5
69.5
217.3
43.3
24.3

2011

100.0

56.4
62.9
61.3
92.2
50.1
56.3
63.8
51.3
75.0
21.8
44.2
25.3

%)
2013 2014
100.0 100

561 558
62.9 62.0
62.1 60.8
94.8 85.6
48.5 49.4
55.5 58.2
58.9 58.6
53.2 53.1
70.7 79.6
23.9 23.2
47.6 48.9
25.7 25.4



300¢! O|& 7|Ho| H|E 1Al 1 H|=

XX 18 2EXH3,486, 79.9%) FlTsink=)
StA 7| ZHA| 7|E} (AF 8E8)
4,364(100.0%)  2,738(62.7%) | 675(15.5%) 73(1.7%) = 878(20.1%)

2 neLss

DELSF. 2014, 7. DESAIA

CHolgel 7|19 2E

{E0E, 7|17HH v =

300~999¢1 1,000~4,999¢1 5,000¢1 o] 4
ZSETES 64.5% 61.5% 62.4%
bdgapng=2 13.4% 18.8% 26.5%
7| ZHA| 20.6% 17.9% 9.4%
7|E} 1.5% 1.8% 1.7%

30091 O|& CHZ| o] M2l NEH|S2 62.7%0 =1}
- 7)ol A8 HIZ & 4818 H| ™A otAk 356% ~36.3%

- Oivlgel 8082

U8 SHEASES| X0l= US

— AADO

=

20.1%2 7|Z2tH| HIZSECI 58
- 18- H YE 20104 3009 O|AS| ZHH 89| HIEZ(17.8%) 2L =2 — 7F

S
H



(20144 3¢ &)
(BH: MK, %)

HI S5 HIE(%)

o H PSS! ArS

Tn =8t BN gdn 3% Ds opy 33 28
o 30 362,826 233,641 129,185 10,909 118,276/ 356 3.0 32.6
oA CH At 27 212,183 140,369 71,814 11,974 59,840 338 56 282
SK 27 92,332 65284 27,048 5095 21,953 29.3 55 238
LG 26 158,769 132,511 26,258 5064 21,194 165 = 32| 13.3
=0 23| 74,876 36,964 37,912 19,220 18,692 50.6| 257 25.0
ZA3 16| 71,550 34,189 37,361 4,043 33318 522 57| 466
dAlE 7/ 101,674 37,801 63,873 1954 61,919 628 19 609
GS 15| 40,312 21,611 18,701 6,735 11,966 464 16.7| 29.7
otgl 12| 40,146 28570 11576/ 3,489 8,087 288 87 20.1
ot} 18 41,389 31,401 9988 4,578 5410 241 111 131
10T A 201 1,196,057 762,341 433,716 73,061 360,655| 36.3 6.1 30.2
200] A 299 1,578,536 992,317 586,219 97,522| 488,697 37.1 6.2/ 31.0
;fl%dlﬁﬂ A | 2,941 4357469 2,734,140 1,623,329 750,240 873,089 37.3| 17.2| 20.0
Z: DEEE) BAIN Cfare o,

A
H
AlM 212H(2014.3) 249N -HAFZH(2014)0 A RH2I-E
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CEA QG AZLHA L EA | Z2EA A EA A =(0[=ED PPP)
2000 2010 2013 2000 2009 2013
== 1,780 1,686 1,676 38,258 41,856 50,449
210l 1,545 1,551 1,570 41,585 43,561 48,082
FHLiCh 1,775 1,702 1,706 35,698 41,517 46,911
g3 1,581 1,542 1,411 37,010 42,904 48,347
oga 1,591 1,562 1,489 34,194 37,807 40,242
=g 1,473 1,419 1,388 37,695 38,251 43,682
WEGET 1,861 1,778 1,752 31,920 32,406 34,561
2= 1,821 1,733 1,735 33,133 33,219 35,405
Bl 2,912 2,193 2,163* 26,870 31,733 36,354
HIESE 1,435 1,377 1,380 41,541 45,832 47,590
AH QI 1,731 1,663 1,665 31,720 33,908 34,824
A€l 1,642 1,624 1,607 31,828 36,766 40,818
AL 1,688 1,632 1,585 45,276 50,155 54,236
= 1,700 1,647 1,669 40,541 44,899 41,192
e 1,836 1,778 1,788 49,981 52,256 56,340
OECD- ZHl 1,818 1,749 1,770 g . 43,772

Note: OECD weighted average.
Source: 2000, 2010% = 7)+= OECD database, 20131 = 4] == OECD Employment Outlook 2014
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0|3} e 0|3} 1t
MAOl 22 RpA 0,348 8,153 1,195 84.0 190.5 60.7 623.0
EEBE =TT (100.0%) | (87.2%) | (12.8%) | (0.9%) | (2.0%) | (0.6%) | (6.7%)
T OEA|ZE 41.5 60.3 56.7 61.0 56.2 60.7
HEQ 22 Kps 2.843 2.197 646 28.1 108.2 22.4 468.2
=TT 100.0%) | (79.2%) | (20.8%) | (1.0%) | (3.8%) @ (0.8%) | (16.5%)
T OEA|ZE 45.8 60.3 55.5 61.3 55.9 60.5
MH| A 6,469 5,924 545 55.4 81.5 37.6 153.0
22 Xp (100.0%) = (91.6%) | (8.4%) | (0.9%) @ (1.3%) (0.6%) | (2.4%)
T DEA|ZE 40.1 60.3 57.0 62.0 56.2 61.1
M= 1,092.8 | 602.2 468.2
sAZXpA | (100.0%) (55.1%) @ T00° 0 0 224 42.8%)
2| & Ol
_;ET%IE# 3.8 4.8 0 0 3.1 4.8

EHE 2= 4AE

HEAH2012)
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A Proportion of the 25-34 year-old population with tertiary education (left axis)
B Proportion of the 55-64 year-old population with tertiary education (left axis)
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20~24M B N0t HYUE
=7} 2000 2005 2010 2013
JHLtCH 1EE | 69.36 70.48 68.02 68.20
A= | 10.10 9.70 11.54 10.47
cara | UBE | 4794 | 4958 | 4863 47.02
T | MYE | 1919 19.15 21.19 21.96
co | 28E | 6528 | 5947 | 6377 | 64.25
7T | MYE | 858 15.38 9.34 7.70
ol NEE | 6647 63.55 61.89 64.15
== MAUE | 859 8.35 9.31 6.99
s DEEE | 5202 51.61 44.31 43.23
HEYE| 993 9.86 9.44 9.17
qzac NEE | 7754 73.26 72.86 71.62
HYE | 390 7.49 6.74 8.84
Ao NEE | 6022 58.78 57.45 58.70
HMYUE | 934 17.43 19.84 18.66
o= NEE | 6852 67.75 62.00 60.59
HHE | 908 9.43 14.74 17.39
o)1= NEE | 7224 68.02 60.34 61.67
HYE| 717 8.83 15.50 12.80
OECD B | 18& | 60.13 58.08 55.27 55.16
s MAE | 1135 12.39 15.16 14.93

=
L

XI&: OECD Labor Force Statistics 2014
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K= (2= 22~244M|, st=E
25~27M, & 27~30)2
{14 Q0| Mg MZ

- MAE, dRtz| gl M,
AXM e MH|ARE st o
H=0| st LRt F S
71212, FY 0|20 MM
HOZ FRV|B7t 2D 2
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BES(EH/H)e| nE8E1 AYHE A H|n
27 IE8ERYE) HEH
20~24A] 25~29 Al 30~34 Al
ZHLtCt  68.2(10.5) @ 21.3 | 785(7.5) 140 @ 81.8(6.1) @ 12.1
ZEfA 470 (22.0) | 410 | 746(13.7) 117 | 79.7(9.9) 104
=g 64.3(7.7) | 28.0 77.6(6.7) @ 157 @ 821(5.7) @122
A= 64.2(7.0) @ 28.8  81.2(6.2) @ 12.6 @ 79.4(4.4) @ 16.2
ot= 43.2(9.2) | 476 @ 688(7.1) @ 241 @ 729(37) 234
42t 716(88) @ 19.6 @ 81.7(7.2) 11.1 | 84.0(5.9) @ 101
A2 E 58.7 (18.7) | 22.6 @ 77.5(9.4) @ 131 @ 84.1(6.8) 9.1
I= 60.6 (17.4) @ 22.0 77.6(85) 139 @ 81.4(56) @ 13.0
0= 61.7(12.8) | 255 74.0(8.1) 17.9 | 76.4(6.7) @ 16.9
Og%D 552 (14.9) 299 71.7(104) 17.9 753(8.0) @ 16.7
XI=: OECD StatExtracts. OECD Labour Force Statistics. http://stats.oecd.org/Index.aspx?DataSet Code=STLABOUR. 2015. 5.3. 8%
- B MU QF0f HIS| BN W2 £F0|1 MUSE A7 e £F
-HENZE + HAE < 100%0 22 1 Kjo|RH2 W AR S ol B ATE O 97| 2.
- 20Cf HH7|o) H| ZHE S0l 7HI 8 2 =2 o rCistxistE 2 CistxjstAio] B7| mj&o|3, 20
of 2ghe CSRSS0|L 22 72 F0|7| W2OIH 30t £8H2 o S| AUFM]
Ol= Hiotets MYIZE mj2Ql



http://stats.oecd.org/Index.aspx?DataSetCode=STLABOUR

=9 i SBA=2 7|8 EE =%
(9] A )

neoDy Six 0]

4)= WEx | MENZE 1Z Ex | MEE 1E
s

2005 196.7 170.3 155.7 189.3 164.2 148.0

2012 201.8 173.0 160.1 196.5 168.4 153.6
1,000 0] 2af

2005 196.4 173.9 157.6 189.2 164.7 154.4

2012 204.0 177.7 159.8 199.6 177.5 157.6
100 ~ 9994

2005 198.6 170.3 155.5 191.3 168.4 148.4

2012 200.1 171.7 160.0 195.1 166.6 154.0
10~ 994

2005 190.2 168.3 154.3 183.2 160.6 144.5

2012 200.2 170.7 160.4 192.5 166.4 151.0




HUdAo| 188 JHH
185 18 185
=7t 20~24A]) 25~29 Al 30~34A|
==, 68.4 81.2 86.5
matA 50.7 79.1 85.0
=< 65.6 80.5 88.1
2q= 62.4. 87.2 91.3
ot= 38.1 69.6 88.4
HEztE 71.4 82.0 88.1
AL El 59.4 80.5 88.2
A= 62.9 83.4 88.9
Ol = 63.5 80.1 84.8
OQ%D 59.5 79.5 86.0

Xt&E: OECD StatExtracts. OECD Labour Force Statistics. http://stats.oecd.org/Index.aspx?DataSet Code=STLABOUR. 2015. 5.3. 8%



http://stats.oecd.org/Index.aspx?DataSetCode=STLABOUR

27} 18 ng8=s 1EE
20~244] 25~29 Al 30~34Al
A==, 68.0 75.7 77.1
ZEtA 43.4 70.3 74.5
=4 62.9 74.5 76.0
2= 66.0 74.9 67.2
ot 47.5 68.0 56.7
HEztE 71.9 81.3 79.8
AL El 58.0 74.4 79.8
Q= 58.2 71.5 73.8
Ol = 59.8 68.1 68.2
ogc%o 50.8 63.9 64.7
X} =: OECD StatExtracts. OECD Labour Force Statistics. http://stats.oecd.org/Index.aspx?DataSet Code=STLABOUR. 2015. 5.3. 8%
- ol HEOHd=2 =2 USRS E, = HI’J'HI%%EI?E, LV E2EE S
O 2 Ate|Zl=0| 2|=0f H|sl| 2~3F 7+ %% o2 HYl
- ot ol FEHE=2 200 =EH DB E2 TR ﬁE%EEr 10~20%p XtO|7}
Lt20, 200 28 D 2EO0| 5%p 7t3 20, 300 =EH0|= 10~20%p=E 2 Of
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St XIo] TREL 3120 L2 MO9S

-1 1

0

DEX} St= 71%, OECDHET 73%

MEOstE st= 75%, OECDE T 81%

= O|&  ot=2 78% OECDET 84%

-2 1E O|d SHAe N8 EE2 o0 =2 HO|/UZ
DEX} St= 84%, OECDHET 80%

MELSHE  3t= 91%, OECDET 86%

= O|at  ot= 90% OECDET 89%

-0 & 0|4 atEXo] NEE2 ot=0| Y5 F2 HO|AS
DEKX} St= 57%, OECDET 65%

MELSHE  st= 60%, OECDEI 76%

= O|A ot 62% OECDEI 80%

- ot E OIEA A |e 4Xt= OECD B 2Lt & US

= = 57/t 2l Fd(@E 100% M=CHE
112% CHZE O| & 151%)ECH A (1ZE 100% MELHE 127% CHZE O| A
167%)0] & H2=E LIEtHS.
XI&: OECD. 2014. Education At a Glance: OECD Indicators, 33%&
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(SH: 7H, %)

AP 1998 2006 2012
= ArHIr# S AR HlS S AR HlS S ARt HlS AR A==
(71 &) (&) (1 &) (&)
L4 1,879,592 2,390,367 2,830,480 1,074,880
(21.8) (20.1) (19.2) (64.9)
1,124,299 1,846,765 2,306,166 360,823
5-9 (13.0) 52.9 (15.6) 56.2 (15.6) 41 (21.3)
10.- 29 1,564,541 2,434,593 2,852,140 182,026
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